Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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' Module-1 ’
Explain the principles of torque production in dc motor and derive the torque equation of a
dc motor. % il gy (06 Marks)
With the help of releva;gﬁrt *@ﬁaracterlstlc explain W}ry "a series motor should never be started
at no load. W, e (05 Marks)
A shunt wound ‘g; has a armature resistance of 0.1Q. It is connected across 220V supply.
The armature curf ent taken by the motqﬁ“f&f&?ﬂA and the motor runs at 800rpm. Calculate
additional résﬁf’aﬁcc to be inserted in séﬁ%s with the armature to reduce speed to 520rpm.

Assume,th gthere is no change in armature current. (05 Marks)

r&

(06 Marks)
(04 Marks)

).5Q2 and shunt ﬁef&; sistance is 2009 i ind the output in KW and efficiency of
hen running on | 16ad and taking a %%ent of 50A. (05 Marks)
Explain/back to back test, on, two identical %C machines and calculate the efficiency of the

ma@ehmes asa generatar% "motor. (07 Marks)
fWE,xplam the advantages and disadvantaggs. of ﬁeld’s test applied to two similar DC series
¢ (04 Marks)
&
*@@’W OR
Derive an, ession for rotor cigp;)er losses in terms of slip and rotor input. (05 Marks)

The power ‘Imput to the rotor gpf 440V, 50Hz 6 pole 3 phase induction motor is 80kW. The
rotor emf is observed to E ‘ake 100 complete alternations per minute. Calculate: i) the slip

ii) the rotor speed  iii).the mechanical power developed. (05 Marks)
Draw and explain the tc rque characteristics for 3 phase induction motor covering motoring,
generating and braking regions of operation. (06 Marks)
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Module-3 Ay !

Draw and explain the phasor diagram of induction motor at slip S. (06 Marks)
A 50kW, 6 pole, 50Hz, 450V, 3¢ slip ring mductlon n%&g@r gave the following test data (line
values). 3
No load test : 450V, 20A, p.f. =0.15
Blocked rotor test : 200V, 150A, p.f.=0.3 4

The ratio of stator to rotor copper 1osses on shaft cn*cu1t was 5:4. Draw the circle diagram
and determine: &%%

i)  Line current N

ii) Power factor

iii) Slip at full load

iv) Efficiency at full load.

A om ,
With a neat sketch expla the working of a deep bar. %@age rotor induction motor. (05 Marks)
Draw and explain eqt&va:%ﬁt circuit and torque Sli;g igharactcrlstw of a double cage induction
motor. (06 Marks)

Explain the standgage operation of the mdgctlon generator (05 Marks)
@f% L %&: %

(10 Marks)

Why start@f?s‘ necessary for an mductl%n ihotor? With a neat diagram, explain the operation

of a direet, on'line starter. A, (08 Marks)
Explain,any two speed control Eaéﬁﬂt;%s of three phase i g;btlon motor. (08 Marks)
" o) :
£ - OR b ‘%m
Why single phase mduc%@gn motor is not self ‘txplam the- g&mmple of operation of
single phase induction motor using double revglﬁﬁg field theory. . (08 Marks)

fid working prmmple of split phase induction

With a neat diagram, e”?fp in the construct

motor. A, & (08 Marks)
Aty
N I&hdule
Briefly explam“V and inverted v c@s of synchronous fhotor. (06 Marks)
Explain how's synchronous motgfiacts as a synchr%né’iisscondenser (05 Marks)
Explalﬁl‘ﬁ%htmg ina synchr@no is'motor. (05 Marks)
@@‘% oyt ‘\tav“
OR&"%
lain the construct1on working, characteﬂstlcs and application of ac servomotor.
(08 Marks)
Explain the pring: legﬁf operation of a linear induction motor. Draw its characteristics. State
its 1mportant a p,hcétlons WE\‘% (08 Marks)
g&‘*@% * k % kK
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